



División de fracciones

Solución

* Divide las siguientes fracciones:

$$\frac{8}{5} : 4 = \frac{8}{20} \stackrel{:4}{=} \frac{2}{5}$$

$$\frac{20}{6} : \frac{1}{7} = \frac{140}{6} \stackrel{:2}{=} \frac{70}{3}$$

$$\frac{3}{7} : \frac{2}{5} = \frac{15}{14}$$

$$\frac{11}{3} : \frac{5}{2} = \frac{22}{5}$$

$$6 : \frac{4}{9} = \frac{54}{4} \stackrel{:2}{=} \frac{27}{2}$$

$$\frac{9}{10} : 6 = \frac{9}{60} \stackrel{:3}{=} \frac{3}{20}$$

$$\frac{5}{2} : \frac{4}{5} = \frac{25}{8}$$

$$\frac{30}{7} : \frac{5}{2} = \frac{60}{35} \stackrel{:5}{=} \frac{12}{7}$$

$$3 : \frac{10}{7} = \frac{21}{10}$$

$$\frac{7}{8} : \frac{1}{3} = \frac{21}{8}$$

$$\frac{11}{6} : 6 = \frac{11}{36}$$

$$\frac{9}{2} : \frac{2}{3} = \frac{27}{4}$$

$$\frac{3}{8} : \frac{3}{11} = \frac{33}{24} \stackrel{:3}{=} \frac{11}{8}$$

$$7 : \frac{3}{6} = \frac{42}{3} \stackrel{:3}{=} 14$$

$$\frac{10}{3} : \frac{5}{4} = \frac{40}{15} \stackrel{:5}{=} \frac{8}{3}$$

$$\frac{14}{4} : 2 = \frac{14}{8} \stackrel{:2}{=} \frac{7}{4}$$

$$\frac{4}{5} : \frac{6}{7} = \frac{28}{30} \stackrel{:2}{=} \frac{14}{15}$$

$$\frac{14}{3} : \frac{1}{5} = \frac{70}{3}$$

$$\frac{8}{3} : \frac{10}{9} = \frac{72}{30} \stackrel{:2}{=} \frac{36}{15} \stackrel{:3}{=} \frac{12}{5}$$

$$\frac{2}{5} : \frac{7}{8} = \frac{16}{35}$$



$$\frac{12}{2} : \frac{4}{8} = \frac{96}{8} = 12$$

$$4 : \frac{2}{5} = \frac{20}{2} = 10$$

$$\frac{8}{7} : \frac{3}{10} = \frac{80}{21}$$

$$20 : \frac{8}{4} = \frac{80}{8} = 10$$

$$\frac{3}{2} : 6 = \frac{3}{12} = \frac{1}{4}$$

$$\frac{5}{7} : \frac{1}{6} = \frac{30}{7}$$

$$\frac{4}{3} : \frac{1}{3} = \frac{12}{3} = 4$$

$$5 : \frac{10}{3} = \frac{15}{10} = \frac{3}{2}$$

$$\frac{5}{4} : \frac{1}{6} = \frac{30}{4} = \frac{15}{2}$$

$$\frac{1}{2} : \frac{3}{4} = \frac{4}{6} = \frac{2}{3}$$

$$\frac{3}{10} : \frac{9}{20} = \frac{60}{90} = \frac{20}{30} = \frac{2}{3}$$

$$\frac{1}{4} : \frac{1}{5} = \frac{5}{4}$$

$$\frac{3}{7} : \frac{9}{14} = \frac{42}{63} = \frac{14}{21} = \frac{2}{3}$$

$$\frac{2}{5} : \frac{7}{8} = \frac{16}{35}$$

$$\frac{2}{5} : \frac{8}{9} = \frac{18}{40} = \frac{9}{20}$$

$$\frac{7}{9} : \frac{11}{4} = \frac{28}{99}$$

$$\frac{3}{5} : \frac{9}{10} = \frac{30}{45} = \frac{6}{9} = \frac{2}{3}$$

$$\frac{4}{7} : \frac{2}{21} = \frac{84}{14} = \frac{12}{2} = 6$$

$$\frac{14}{9} : \frac{3}{7} = \frac{98}{27} = \frac{3}{9} = \frac{1}{3}$$

$$\frac{10}{6} : \frac{2}{4} = \frac{40}{12} = \frac{10}{3}$$

$$60 : \frac{5}{2} = \frac{120}{5} = 24$$

$$\frac{7}{9} : \frac{3}{6} = \frac{42}{27} = \frac{14}{9}$$

$$\frac{12}{3} : \frac{4}{6} = \frac{72}{12} = \frac{12}{2} = 6$$

$$\frac{9}{5} : \frac{3}{10} = \frac{90}{15} = \frac{18}{3} = 6$$

